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a

Index: 0, Unicode:

Nodes: 386, Contours: 9
BBox: (0, 0) - (2787, 397)
LSB: 0, RSB: 13, Width: 2800
Ish: 442, rsb: 469, width: 1889

[

Index: 2, Unicode: 0063
Nodes: 347, Contours: 4
BBox: (0, 0) - (2805, 407)
LSB: 0, RSB: -5, Width: 2800
Isb: 375, rsb: 360, width: 2065

e

Index: 4, Unicode: 0065
Nodes: 192, Contours: 5
BBox: (0, 0) - (2794, 393)
LSB: 0, RSB: 6, Width: 2800
Ish: 491, rsb: 522, width: 1787

g

Index: 6, Unicode: 0067
Nodes: 322, Contours: 10
BBox: (0, 0) - (2801, 298)
LSB: 0, RSB: -1, Width: 2800

i

Index: 8, Unicode: 0069
Nodes: 417, Contours: 4
BBox: (1, 4) - (2798, 400)
LSB: 1, RSB: 2, Width: 2800
Ish: 567, rsb: 576, width: 1657

k

Index: 10, Unicode: 006B
Nodes: 478, Contours: 10
BBox: (0, 0) - (2801, 503)
LSB: 0, RSB: -1, Width: 2800
Ish: 422, rsb: 393, width: 1985

m

Index: 12, Unicode: 006D
Nodes: 445, Contours: 20
BBox: (0, 0) - (2798, 397)
LSB: 0, RSB: 2, Width: 2800
Ish: 406, rsb: 442, width: 1952
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Index: 14, Unicode: 006F
Nodes: 558, Contours: 20
BBox: (0, 0) - (2805, 400)
LSB: 0, RSB: -5, Width: 2800
Ish: 232, rsb: 233, width: 2335
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Index: 16, Unicode: 0071
Nodes: 293, Contours: 3
BBox: (0, 0) - (2776, 298)
LSB: 0, RSB: 24, Width: 2800

S

Index: 18, Unicode: 0073
Nodes: 322, Contours: 2
BBox: (0, 0) - (2798, 400)
LSB: 0, RSB: 2, Width: 2800
Ish: 2, rsb: 5, width: 2793
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Index: 20, Unicode: 0075
Nodes: 990, Contours: 16
BBox: (0, 0) - (2798, 499)
LSB: 0, RSB: 2, Width: 2800
Ish: 29, rsh: 23, width: 2748
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Index: 22, Unicode: 0077
Nodes: 215, Contours: 6
BBox: (0, 0) - (2794, 404)
LSB: 0, RSB: 6, Width: 2800
Ish: 7, rsh: 8, width: 2785

y

Index: 24, Unicode: 0079
Nodes: 663, Contours: 16
BBox: (0, 0) - (2798, 404)
LSB: 0, RSB: 2, Width: 2800
Ish: 407, rsb: 384, width: 2009
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Index: 1, Unicode: 0062
Nodes: 337, Contours: 6
BBox: (0, 0) - (2798, 383)
LSB: 0, RSB: 2, Width: 2800
Isb: 573, rsh: 600, width: 1627
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Index: 3, Unicode: 0064
Nodes: 270, Contours: 2

BBox: (0, 0) - (2801, 397)

LSB: 0, RSB: -1, Width: 2800
Ish: 1176, rsh: 1200, width: 424
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Index: 5, Unicode: 0066
Nodes: 258, Contours: 2
BBox: (0, 0) - (2798, 393)
LSB: 0, RSB: 2, Width: 2800
Ish: 261, rsh: 262, width: 2277
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Index: 7, Unicode: 0068
Nodes: 319, Contours: 4
BBox: (0, 0) - (2798, 302)
LSB: 0, RSB: 2, Width: 2800
Isb: 572, rsh: 600, width: 1628
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Index: 9, Unicode: 006A
Nodes: 439, Contours: 13
BBox: (0, 0) - (2783, 397)
LSB: 0, RSB: 17, Width: 2800
Isb: 354, rsh: 365, width: 2081
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Index: 11, Unicode: 006C
Nodes: 613, Contours: 31
BBox: (0, 0) - (2801, 400)
LSB: 0, RSB: -1, Width: 2800
Ish: 441, rsb: 441, width: 1918

n

Index: 13, Unicode: 006E
Nodes: 425, Contours: 18
BBox: (0, 0) - (2790, 492)
LSB: 0, RSB: 10, Width: 2800
Ish: 0, rsh: 10, width: 2790
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Index: 15, Unicode: 0070
Nodes: 468, Contours: 10
BBox: (0, 0) - (2798, 407)
LSB: 0, RSB: 2, Width: 2800
Ish: 523, rsh: 517, width: 1760
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Index: 17, Unicode: 0072
Nodes: 305, Contours: 14
BBox: (0, 0) - (2805, 400)
LSB: 0, RSB: -5, Width: 2800
Isb: 389, rsh: 417, width: 1994
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Index: 19, Unicode: 0074
Nodes: 318, Contours: 6

BBox: (0, 0) - (2798, 393)

LSB: 0, RSB: 2, Width: 2800
Isb: 1097, rsh: 1095, width: 608
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Index: 21, Unicode: 0076
Nodes: 1437, Contours: 69
BBox: (0, 0) - (2787, 400)
LSB: 0, RSB: 13, Width: 2800
Ish: 152, rsh: 165, width: 2483

X

Index: 23, Unicode: 0078
Nodes: 289, Contours: 12
BBox: (0, 0) - (2790, 295)
LSB: 0, RSB: 10, Width: 2800

z

Index: 25, Unicode: 007A
Nodes: 196, Contours: 4
BBox: (0, 0) - (2798, 496)
LSB: 0, RSB: 2, Width: 2800
Ish: 19, rsh: 44, width: 2737



